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' Wﬁﬂmmﬁwﬁlaﬁ%ﬁwm: 1x8=8
Choose the correct answer from the following

questions :
(@) IgF-0F 8, T 2P, R =
Quality of X-ray i.e., hard or soft, is

determined by

(i) FUT TE e Reg o/ W

potential difference of the cathode

and anticathode
(ij) aFoePe BT kil
. quality of the anticathode
" (i) @R G T
quality of the cathode
(iv) ST o8 T
None of the above

Y
/1371 ( Turn Over )

&¢



(2)

(b) SR FERY
T ARG AR O
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Which.ofth
correct in e following statements is not
photoelectric effect?

U]
Ejz,ﬁfc R Bre ¢ fAga e
the iﬁt g potential is independent of
ensity of light p

Stoppin
g potenti
ﬁ'equencylz p l(i:ll-ﬁal depends on the

Kinetic
i - €ne
depends T& of photoelectro?

on frequency of light

(iv)%ﬁmcwwawﬁm
\O \O

Stoppi
. plng Potent;j
Intensity of lig}?tu al depends on th¢
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Hertz
expers
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(@) ar orbits in atom$ o |
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€nce
atoms ° of continuous energy i
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(@)

(e)
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(i) e Ry 1 T SR

existence of discrete energy levels in
atoms

(iv) S TR Tl S

existence of elliptical orbits in atoms -

g T AR INE B T SIS A 7

Balmer series of H-spectra lies in which

region?

(i) SRREAA AFTO

In ultraviolet region

(ii) SRCAIS HA¥T©
In infrared region '

(iii) SRCAIRS AF ST W e
In between infrared and ultraviolet
region

(i) IR TS

In visible region
o abw 2 2Dgpd T
o8 13 T4 X9

The state of an atom is
2D5/2. Then the value ©

@ O
(@)
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(iv)

(e TR

designated by
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The maxi
aximum kineti
particle i etic
cle in a cyclotron is energy of a

(l) D3 3pisq A

directl
y ;
the D Proportional to radius of

) DI I 85 it

direcﬂ
Cly pr ;
radiug OfEt)h ‘;Plf)’rtlonal

(@) DY IR
TR T

. pro i .
radius of the gol‘tlona[ to square of

to square of
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o1 coufEy R oo p-FN ReRA R
When a radioactive substance emits a
B-particle, then
() PR oA S SARAfES A S A
e @ A
its mass number remains same and
atomic number increases by one

(i) ~YHR S WM GF T TR Y TR

GF A0
its mass numb
and atomic num

oIefZH S R GRS

MR G T
its mass number remain
atomic number decreases by oné

w@awmwnwmwmﬂ*’m

0| (47)
its mass number in
and atomic pumberin

er decreases by one
ber increases by one
(iii) iE O ]

s same and

(iv)
creases by one
creases by on€

1+1=2
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(6)
5=6
RFIR e Bfetear | 1+
A Ro Wi S . o5 eiferm & 2 F0A > Find an expression
(c) SCETRIGRET . ) ton effect?
QST S NewH oy 1+1°2"  What is Compto hift
ton s .
What is photoelectric effect? Write the for the Comp
Einstein’s photoelectric equation. o 5x3=15
' ! o et P :
g|* TR R @ fofitor o ‘questions from the
(@) TR W 5 o by v Answer any three .
Write two defects of Bohr’s atom model. following : @R e qa
I[A
(@) oA ST P o R S
(€) B 2P R 2 B ca ooy 2y g 1 | y Rec 34 4+1=5
o hAL for
What is Stary effect? Mention one | . the Coolidge t‘t‘li:; two
‘mportant feature of the Stark lines. e ction o Xcrays: M‘;’;
ductio . X-rays.
g important properties of
0 e 7 S0 e T — ' e SCED
Statle the characteristjc properties of (b) F-bE A 7 R 2+3=5
Nuclear forceg, ‘; —_—— ook .
anck-Hertz exPeflrt?:: f;'
(9) Rerse Bre ' : What ifhe Ii“rl;lportant characteris
e TR pfem R 3 Discuss =7~ .
Sems this experiment-
State the function of , moderator in 2 , e 4ore T
Nuclear reactor © AR Aokl Cﬁ’":' o I ECH] & A1
c -3m
all T 0 kg S C@c;;
(h) %%qﬁﬁ‘l{m’ fog? o9 kv. W 3% oS @ AT,
o= ’ UAGA S
What do yoy ' for @ G e fefs 11
nucl Mean by ¢ factor’ for oS S Igat
€ar reactorp G ( Turn Over )
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5. I’ e S
State ang

prinCiple .

P7/371

(8)

In e .
apparhal.ltthska;: oil-drop  experiment
e ) pl?tes are separated by &
Potent(i:ael of 5x107 m and charged to 8
poten ofdlfference of 09 kV. If a droplet
chergs _mass 3x107!5 kg holding @
e ﬁnd.llt;lst at rest between the plates;

€ magnitude of the charge-

m’mﬁﬁm@ R @z

LS I, Ifq 1 |
Describe  how
of light.

an Photoelectric  current
ode potential and intensity.

Rk R T 43

pProve Bohy
ohr’s correspondence

3 ~
—

- T B

(9)

59
=
2+3=5

() TR wE  SPRT  SAH sifeFaT

Wa@woﬁmwwwmmq

sfeF e 90
rmal and anomalous

What are no
Zeeman effects? Discuss the normal
lassical theory of

~ Zeeman effect using ¢
physics.

e A I
Wﬁ’tﬁamaﬁam

What do you mean by coupling scheme?
Describe the L-S and JJ coupling

schemes.

& @2 LS 9 i

(c)
1 +2+2=5

mwwamﬁtmaﬁwu'
R i «orete T R & 12 4+2=6

Describe the construction and working of :
cyclotron. What are its advantages over

linear accelerator?

‘Q‘Wﬁmﬁﬁﬁmwm: Z::=15
Answer any threé questions from
following : .
Ao AW G <% 3 ¥ | TR
“ R ' 4+1=5
Describe the liquid-drop model of
nucleus. What are its demerits?
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® SRR B R Q-7 et & @2 Eusl J The fission reaction of U233 is given by
- | s U5 4nl =Ba! +Kr* +3n!
Wh _ .
nuc?ctea;El or you mean by Q-value of & Find the Q-value of the reaction and
for it caction? Find an expression amount of energy reslea.sed in joules
when 1gm of U23°> is completely
fissioned.
. Given ‘
(e) = % o e 235 = 035-04278 a.m.u.
o7 Mass of U<*> = 2 .
T T W IR T ; o )
Mass of Ba'~ = 140 9129 a.m.u.
Describe the Mass of Kr?2 = 91:89719 a.m-u.

of construction and working

a
Van de Graaff generator. Mass of nl= 1-00866 a.m.u.

d) Uzssq . xkk

2
U%S 1 Bal4l g 92 +3nl
RRASR . Q-

Revm 2z ﬁmm%l gm US spospfaic

ofy T g3 @A 7’3,

e g

U23s _
1= 23504278 amu. .

3™ = 1409129 a.m.u. ‘
Kr

92
&= 91-89719 a.m.u.

1 ,
NIy = 1-00866 a.m.u.

P7/371 5 SEM TDC PHY G 1

S

p7\4200 /371

( Contiﬂ”e



